Criminal Law Outline
I. Preliminary Perspectives

a. Introduction to Criminal Law
i. Utilitarianism and retributivism

1. Utilitarianism – Bentham
a. Punishment serves a purpose to deter future crime
b. Maximize gain for society

c. Shouldn’t punish if groundless, inefficacious, unprofitable, or needless

2. Retributivism – Kant

a. Punishment because a person deserves to be punished

b. There needs to be a universal rule

c. Doesn’t look at consequences of benefit or loss to society

d. Fault and blameworthiness—punishment for the sake of punishment

ii. Criminal Law v. Civil Law in U.S.

1. Imprisonment

2. Execution

3. Person against state, not person against person

4. Standard of proof is beyond a reasonable doubt, not preponderance of the evidence
b. Purposes of the Criminal Sanction
i. Retribution

ii. Deterrence

iii. Rehabilitation

iv. Incapacitation

II. Defining Criminal Conduct

a. Actus Reus – the physical element of a crime
i. Positive Actions – conduct 
ii. Omissions – conduct, must be voluntary
1. Criminal liability based on failure to act if there is a pre-existing legal duty to act and the person is capable of performing the action.

2. Legal duty determined by statute, status relationship, contractual obligation, and voluntary assumed care (which secludes a helpless person from others who can help)
b. Introduction to Mens Rea – the guilty mind
i. Specified culpability level must be established

ii. MR is the extra ingredient that turns a harmful/dangerous act into a crime.
c. Levels of Culpability
i. Purpose

ii. Knowledge

iii. Recklessness – reasonable person standard used to determine
iv. Negligence – reasonable person standard used to determine; criminal negligence is “gross deviation” from standard of reasonable person; “should be aware” is an objective standard
[Insert Crime Chart]

	
	Conduct


	Circumstance
	Result

	Purpose
	Conscious object (goal)
	Aware, believe, or hope that they exist
	Conscious object (you mean for the result to happen)



	Knowledge
	Aware of a high probability that your conduct is of that nature
	Awareness of high probability that the circumstance exists unless you believe that it does not exist


	Aware that it is practically certain that the conduct will cause the result

	Recklessness
	Conscious disregard of a substantial and justifiable risk that the material element exists
	Conscious disregard of a substantial and justifiable risk that the material element exists


	Conscious disregard of a substantial and justifiable risk that the material element exists

	Negligence
	Should be aware of a substantial and unjustifiable risk that the material element exists (objective standard)
	Should be aware of a substantial and unjustifiable risk that the material element exists


	Should be aware of a substantial and unjustifiable risk that the material element exists


d. Elements Analysis
i. Actus reus – break up the offense into sections

ii. Type – conduct, circumstance, or result (material or nonmaterial – nonmaterial is always identity, jurisdiction, and date)

iii. Required mens rea – P, K, R, N

1. If statutory silence on MR

a. Recklessness is the default

b. If MR term is at the beginning of the statute, like “knowingly a + b + c,” apply knowingly to all 3 elements.

c. If “a + b + knowingly c,” apply default (recklessness to first two and knowledge to the third).  

d. “A + b + c with intent to X” –“intent to X” is free-floating mens rea.

2. “With intent” is free-floating mens rea.  It is not attached to any actus reus element. (Separate MR requirement that doesn’t really go on the chart.)

3. “Willful” means knowledge.

iv. Actus reus present?  Yes/no.

v. Mens rea present? Yes/no.  (Have to determine if MR present is equal to or higher than required MR.)

Example:

	AR
	Type
	Req. MR
	AR present?
	MR present?

	1
	Con/mat
	P
	Yes
	P – yes

	2
	Con/mat
	K
	Yes
	K – yes

	3
	Circ/mat
	R
	No
	N – no 

	ID
	Circ/nonmat
	---
	Yes
	---

	Date
	Circ/nonmat
	---
	Yes
	---

	Jurisdiction
	Circ/nonmat
	---
	Yes
	---


III. Mistake

a. Mistake of Fact
i. Common Law Approach

[Insert Chart]

ii. Modern Approach

1. Elements Analysis
b. Mistake of Law

i. Same Law – Mistake as to the of law defining the offense itself (misunderstanding of the language or interpretation)
1. No defense unless exceptions apply:

a. Law so provides (by requiring knowledge of the law)

b. Reasonable reliance on official statement of the law

c. Law is not reasonably made available

2. No defense because a mistake of same law does not negate any mens rea element.

3. Elements analysis will not work because knowing the law is not an element of the offense itself.

4. Cheek v. United States – Cheek charged with “willfully” not paying his taxes or filing a return.  This is a mistake of same law.  
ii. Different Law – Mistake as to another body of law
1. Elements Analysis

2. Regina v. Smith – Guy made changes to his apartment and then damaged it to get his property back before moving.  Mistake of different law because it dealt with law concerning changes to apartments.

[Insert Mistake Chart with exceptions]

IV. Homicide – unlawful killing of a human being by another human being
a. Common Law Structure
i. Murder (malice aforethought)
1. Intent to kill
2. Intent to inflict grievous bodily harm
3. Extreme recklessness
4. Felony murder 
ii. Manslaughter (no malice aforethought)
1. Voluntary
2. Involuntary
a. Negligence
b. Misdemeanor manslaughter
[Insert murder/manslaughter chart(s)]

b. Degrees of Murder—The Premeditation-Deliberation Formula
i. Legislative grading schemes – PA was first to do this:  “ All murder, which shall be perpetrated by means of poison, or by lying in wait, or by any other kind of willful, deliberate, and premeditated killing, or which shall be committed in the perpetration or attempt to perpetrate any arson, rape, robbery or burglary shall be deemed murder in the first degree; and all other kinds of murder shall be deemed murder in the second degree.”
ii. Commonwealth v. Carroll – D shot his wife twice in the head while she slept.  

1. No time is too short to deliberate and premeditate a crime.

2. Carroll puts all intent-to-kill murders into the 1st degree category.

iii. State v. Guthrie – D stabbed his coworker in the kitchen of the restaurant where they were working.  He was not found guilty because the court determined he didn’t have enough time to reflect on what he did before he did it.
1. P/D (intent to kill) + opportunity for reflection (which takes some time)

2. Guthrie splits up intent-to-kill murders into 2 categories—1st degree and 2nd degree
c. Murder vs. Voluntary Manslaughter-The Provocation Formula
i. Maher v. People – D went into a bar and shot a guy who he had learned was sleeping with his wife.  He had followed his wife and the guy as they entered the woods together, and when they left half hour later he followed the guy to the saloon. Just before he entered the saloon a friend told him that the guy and his wife had had sex in the woods the day before.  

1. Out of this case comes the Provocation Formula (flexible approach)—a mechanism to reduce murder (intent to kill) to voluntary manslaughter:
a. Heat of passion

b. Adequate provocation – a reasonable person would have their blood boiled to an adequate degree

c. Cooling time 

ii. Girouard v. State – Guy stabbed his wife after she taunted him verbally.  (Restrictive/categorical approach.)

1. The court says words are never enough for adequate provocation.

2. They will only count:  Extreme assault or battery upon the defendant, mutual combat, defendant’s illegal arrest, injury or serious abuse or a close relative of the defendant’s, or the sudden discovery of a spouse’s adultery.
d. Murder vs. Involuntary Manslaughter
i. Commonwealth v. Malone – Case of the kid who killed his friend playing “Russian Poker.”  This was murder, not involuntary manslaughter. (Extreme recklessness)
1. Court says the fact that there was no motive for the homicide does not exculpate the accused, since the killing was murder with malice in the sense of a wicked disposition with reckless disregard for the consequences.

ii. United States v. Fleming – Guy was drunk and speeding on the highway when he crashed, killing someone. (Extreme recklessness)
1. Recklessness needed for malice aforethought—a serious risk as opposed to a substantial risk.

2. If the unawareness of risk is due to voluntary intoxication, you don’t get the benefit of being unaware.

iii. Anything up to extreme recklessness is manslaughter.

1. The point at which an act switches over from murder to involuntary manslaughter is for a jury to decide.  (Example:  How fast is so fast in a particular speed limit zone that it can be considered extreme recklessness?)
e. The Felony-Murder Rule—underlying felony is called the predicate felony
i. Felony-murder if:

1. You or an accomplice or one acting in furtherance of the felony

2. Cause the death of another

3. In the commission or attempted commission of a felony

4. That is inherently dangerous to human life

5. And independent of the homicide.

ii. People v. Stamp – Ds robbed a building and afterward the owner was so shaken up that he had a heart attack.  
1. Death of the man was not foreseeable; however, there is but for cause (but for the guy burglarizing the place the man would not have died) and proximate cause (death was a natural or probable consequence of the robbery.)  
2. Court says when death is the direct causal result of the felony, you take the victim as you find them, even if it is not foreseeable

iii. Regina v. Serne – Case guy who set fire to house for insurance money and ended up killing his son.  

1. Court said the predicate felony must be inherently dangerous to human life—in this case it was.

iv. People v. Phillips – Case of guy charged with felony-murder for taking people’s money and not curing their daughter.  Error in felony-murder instruction at the trial court level.  

1. Felony must be inherently dangerous to human life—it was not in this case.  Predicate felony was grand theft by false pretenses.  

2. Crime must be looked at in the abstract, not with the circumstances of a particular case. (Here the crime could have been committed in many ways that would not have endangered anyone’s life.)

3. Courts prefer to restrict the felony murder rule rather than expand.  

4. What if underlying felony was possession of a concealed weapon?  (People v. Satchell – If D had been an ex-felon for tax fraud or some other crime not involving personal violence, there would have been no malice in D carrying a gun.)

5. Felonies that are considered inherently dangerous to human life:  armed robbery, arson, rape, burglary, robbery, kidnapping.

v. Merger Doctrine (Independent Felony Doctrine)

1. People v. Smith – Child abuse case resulted in death of child.  

a. The court says the felony must be independent of the homicide—the predicate felony cannot be a necessary ingredient of the homicide.  

b. Must be an independent felonious purpose.  (Like in robbery, the purpose is to try to get money.)

c. If a predicate felony merges, felony-murder can’t be used.

2. Importance of Merger Doctrine—Manslaughter would disappear because every felony could be automatically bootstrapped into murder.

vi. State v. Canola – Appeal concerned the homicide of a co-felon by the owner of the store.  Predicate felony is robbery.  

1. No merging because the purpose was to get money, not to assault someone.

2. BUT court says felony-murder can’t be used in this case—to convict for felony murder, the act must be done by a person who is acting in furtherance of the felonious purpose.

vii. Furtherance of felony

1. Includes

2. Must look to whether actor has found a “safe haven”

3. 2 theories:

a. Agency theory – for doctrine to apply, death must be caused by the actual person committing the crime or one acting in cohorts with the felon.

b. Proximate – central issue is whether the killing was foreseeable risk of the felony.  Identity of the killer not an issue.

V. Attempt – never stands alone but is hooked to other crimes (the separate substantive crime is called the “target offense”)
a. In general requires 2 things
i. Mens rea – an attempt to commit a specific crime, and
ii. Actus reus – an act beyond mere preparation toward the commission of the crime
b. Mens Rea for Attempt – intent to commit target offense
i. Example:  Attempted murder requires the intent to commit the specific crime of murder.  But the target offense has its own AR and MR.  

ii. Smallwood v. State - D was convicted of three counts of assault with intent to murder his rape victims, based on evidence that despite his awareness that he was HIV positive and that he had been warned to practice safe sex, he did not use a condom during any of his attacks.  His conviction was reversed.

1. Target offense: murder.  AR is murder and MR is malice aforethought.  

2. Specific intent to kill is all that matters in determining attempted murder.  Attempt to commit murder (when they don’t die or before they die) requires attempt with intent to kill.

iii. MR required is higher for attempt than for the actual completion of the crime.  

1. Intent with respect to result—intent (purpose) to have the result occur. (This is usually what we’re most concerned with in attempt cases.)

2. Intent with respect to circumstance—must match the MR of target offense with respect to circumstance.

3. Intent with respect to conduct—purpose to engage in the conduct.

4. Intent with respect to free-floating mens rea—free-floating mens rea exists.
c. Mere Preparation (Actus reus of attempt usually requires an act beyond mere preparation)
i. Three most prominent tests:

1. Proximity Test 
a. Dangerously near to the accomplishment of the target offense.  The focus is on what remains to be done.  
b. Under this test, what if a person comes dangerously near the target offense but changes his mind?  MPC §5.01(4)—Renunciation of Criminal Purpose—“It is an affirmative defense that he abandoned his effort to commit the crime or otherwise prevented its commission, under circumstances manifesting a complete and voluntary renunciation of his criminal purpose.”

c. People v. Rizzo – Case of Ds who went out looking for the man with the payroll so they could rob him.  Court said they would have had to actually found the man in order for this to be attempt.  

i. Court’s legal test:  “The law must be practical, and therefore considers those acts only as tending to the commission of the crime which are so near to its accomplishment that in all reasonable probability the crime itself would have been committed but for timely interference.”

2. Equivocality Test

a. The acts must give a strong indication of the intent.

b. The act must show criminal intent on the face of it.

c. No focus on statements involving expression of intent—based solely on acts.

3. Substantial Step Test

a. If there is a substantial step toward the commission of a crime and the conduct is strongly corroborative of the intent required.  [MPC 5.01c—“purposely does or omits to do anything which, under the circumstances as he believes them to be, is an act or omission constituting a substantial step in a course of conduct planned to culminate in his commission of the crime.”]

b. Instead of going back from the crime itself, it starts at the beginning and sees how far the preparation goes with regard to substantial steps.

c. United States v. Jackson – 2 counts of attempted bank robbery; Ds planned twice to do the robbery.  

i. 1st abandonment was not voluntary – they stopped because there were too many people in the bank (this was like seeing a police officer and giving up the attempt.)

ii. 2nd time they noticed the FBI and started to drive away when they realized they were being watched.  

[Insert mere preparation chart]

d. Impossibility
i. Traditional approach – characterize as legal or factual impossibility (sometimes it is hard to do this because certain situations can be classified as either)

1. Factual impossibility is NO defense

a. Intended acts, if they could have been completed, would be a crime

b. United States v. Berrigan – “Generally speaking factual impossibility is said to occur when extraneous circumstances unknown to the actor or beyond his control prevent consummation of the intended crime.”

2. Legal impossibility is a defense

a. Intended acts, even if completed, would NOT be a defense

b. People v. Jaffe – D charged with receiving stolen goods, but the goods were not actually stolen property anymore.  Court said this was a legal impossibility because no crime would have been committed if the act had been carried out.

3. Sherlock Holmes example:  Wax image of Holmes placed in an empty room.  His enemy Moran sees the image through the window and shoots.  

a. No defense if you think about it as a factual impossibility—he intended to shoot Holmes all along.

b. Defense if you think about it as a legal impossibility—he intended to shoot a wax figure, and that is not a crime.

ii. MPC Approach 

1. You take the circumstances as the defendant believed them to be.  

2. MPC 5.01—(a) “purposely engages in conduct which would constitute a crime if the attendant circumstances were as he believes them to be”—not knowing doesn’t matter.  (b) “when causing a particular result is an element of the crime, he does or omits to do anything with the purpose of causing or with the belief that it will cause such result without further conduct on his part.”

a. This abolishes most defenses of impossibility.

b. If you’re trying to commit a nonexistent crime, you can’t be charged—this is called “pure legal impossibility” and is the only way impossibility is a defense—trying to break a law that doesn’t exist.

3. People v. Dlugash – Case of guy who shot other guy after his friend shot him in the chest first.  Court said he couldn’t be charged with murder because the jury couldn’t find beyond  a reasonable doubt that the guy was alive when he was shot.  BUT they said he was guilty of attempted murder.  The court said he was either guilty of intentional murder or attempted murder.

4. MPC 5.05(2)—If the particular conduct charged to constitute a criminal attempt, solicitation or conspiracy is so inherently unlikely to result or culminate in the commission of a crime that neither such conduct nor the actor presents a public danger warranting the grading of such offense under this section, the court shall exercise its power under section 6.12 to enter judgment and impose sentence for a crime of a lower grade or degree or, in extreme cases, may dismiss the prosecution.
VI. Accomplice Liability

a. Introduction to Accomplice Liability
i. To be an accomplice, you must intentionally aid or encourage the primary actor in the commission of the target offense.  

ii. Has its own AR and MR requirements

1. AR—aid or encourage

2. MR—intentionally

iii. Target offense also has its own AR and MR requirements
b. Mens Rea and Actus Rea for Accomplice Liability
i. MR with respect to Conduct

1. Hicks v. United States – Case of 3 guys on horses, guy with rifle shot other guy, shooter got killed during arrest, other guy was charged with murder on an accomplice theory.  
a. Court says words must be accompanied by intent in order for person to be guilty.

b. Also says prearrangement is critical.  (Prearrangement + presence = encouragement.)  Presence alone can’t equal encouragement.

2. State v. Gladstone – Narc went to try to buy some pot from D.  He didn’t have any but said he knew someone who might (Kent) and he gave him his address and a map to Kent’s house.  D was charged with aiding and abetting in the sale of marijuana.  (Accomplice is Gladstone, Primary actor is Kent.)

a. Court says there is a missing nexus between Kent and D.

b. MR required of accomplice in this case is purpose to aid the actor in criminal conduct.  (Gladstone did not have purpose here so was not guilty—person is not guilty if there’s a failure of MR.)

c. Pre-arrangement is important, but intentionally aiding (purpose) is enough.

3. MPC 2.06(3)—requires purpose of promoting or facilitating the commission of an offense

a. However, some courts drop this down to knowledge.

ii. MR with respect to Circumstance

1. United States v. Xavier – Franklin and Clement Xavier were brothers, they saw an enemy sitting in a car outside a store.  C told F to wait for him.  He returned and gave F a pistol, which F used to shoot at enemy’s car.  C was convicted of “aiding and abetting an ex-felon’s possession of a firearm.”  D claimed there was no evidence to show that he knew his bro was an ex-felon.

a. The statute was not a specific intent statute—therefore since he had no knowledge or cause to believe that his brother was a felon, he could not be guilty of the aiding and abetting.

b. Strict liability for the primary actor, but not for the accomplice.

c. Must at least match the MR requirement for the target offense with respect to circumstance element.

iii. MR with respect to Result

1. State v. McVay – Captain and engineer of ship are the primary actors, they were charged with involuntary manslaughter by letting too much steam escape and the boiler exploded.  Kelley charged as an accomplice.

a. What is the MR required for the accomplice if it is negligence for the primary actors?  Must match MR required for target offense with respect to result.

iv. MR for accomplice in general

1. P for conduct

2. At least match MR for target offense for circumstance

3. Match MR for target offense for result

v. If the primary actor engages in something that the accomplice was not originally planning to aid with:

1. Natural and probable consequence doctrine

2. People v. Luparello – D wanted info about his ex-lover, so he had his friends go to try and get info out of a dude who knew her. They ended up killing the guy.  D probably didn’t want his friends to kill the man.

a. It is reasonably foreseeable that something like murder could happen in this case.  

b. His MR with respect to death was negligence—he should have been aware.  

c. Luparello is majority approach.

vi. AR for Complicity (Accomplice Liability)
1. Wilcox v. Jeffery – Guy with jazz magazine went to see the jazz musician from the US, and was charged with aiding and abetting Hawkins in contravening art.  He paid to be there, didn’t boo, didn’t try to drown out the music, etc. Court said this was enough to count at aiding and abetting.  Presence + payment = encouragement.

a. What about the fact that if D was not in audience, the crime still would have happened?

i. No need to show but for causation.

ii. Causation analysis is not appropriate when you’re dealing with accomplice liability.

iii. You can have a pretty thin connection in terms of AR for what will count as aiding and abetting.

2. State ex rel. Attorney General v. Tally, Judge – Whether the judge is an aider and abettor in the murder of Ross because he stopped a telegram warning Ross that 4 guys were on their way to kill him.  
a. Court says he is guilty even in the absence of prearrangement.  Actual aid (even if the primary actor is unaware of it) is sufficient.  This actus reus is enough.

b. If judge had tried to intercept but failed because he didn’t get there in time—

i. Traditional approach:  If you don’t aid, you only try to, it doesn’t count as aid.  This is not enough to make out accomplice liability.

ii. MPC approach—2.06(3)(ii)—“A person is an accomplice of another person in the commission of an offense if with the purpose of promoting or facilitating the commission of the offense, he aids or agrees or attempts to aid such other person in planning or committing it.”  Here attempt is enough to count as accomplice liability IF the target offense actually occurs.

c. If judge had aided or attempted to aid, but the crime was not actually committed—

i. Traditional approach:  No accomplice liability, because no target offense resulted.

ii. MPC approach—5.01(3)—“A person who engages in conduct designed to aid another to commit a crime which would establish his complicity under section 2.06 if the crime were committed by such other person, is guilty of an attempt to commit the crime, although the crime is not committed or attempted by such other person.”  Attempted aid with no crime at the end of the line can be enough for attempt liability.

d. Sally at the Rally examples:
i. You know that John is planning to kill Sally at the rally.  When you see Sally leaving the rally, you talk her into staying.  John kills Sally at the rally in cold blood.  He is totally unaware of you trying to help him, and he would probably have been able to find her anyway.  

1. Murder under an accomplice theory?  No need for you to show that but for the aid, there would be no crime.  It looks like it would be found to be murder.

ii. This time, when you see John searching the crowd for Sally, you yell to him that Sally is in the alley.  He doesn’t hear you, but he does find and kill her.

1. Murder under an accomplice theory?  Under traditional approach, not guilty.  Under MPC, an attempt to aid.

iii. You know John is planning to race his motorcycle through the crowd.  You want him to do it even though it is dangerous.  You tell him to do it and help him tune his motorcycle.  He accidentally kills Sally.

1. Accomplice liability for you?  John would be guilty of murder (extreme recklessness) or involuntary manslaughter.  Attempt requires same mens rea with respect to result—in this case, extreme recklessness.  You consciously disregarded the substantial and justifiable risk of driving the motorcycle through the crowd.  

c. Relative Liability of the Parties
i. State v. Hayes – Hayes charged with burglary and larceny.  Hill helped him do it to entrap him—he is the one who actually entered the building.  Hill is not guilty of larceny because he didn’t intend to permanently deprive the owner of the property.  He doesn’t have the free-floating MR needed for the crime. Hayes DID have the intent.
1. Judgment reversed because Hayes did not do all the overt acts, so he is not guilty as a principal.  He can’t be guilty as an accomplice because the primary actor committed no crime.

2. This is an elements-based defense—primary actor not liable because he didn’t have the required MR for the crime.  

d. Cross cutting defenses—different from elements-based defenses and result in an acquittal even if all elements are not met.  
i. 3 classes:
1. Justification defenses (extends to accomplices)

a. Apply to conduct that is otherwise criminal but under the circumstances society doesn’t seek to condemn.
b. Could include self-defense, choice of evils, defense of property.
2. Excuses (does NOT extend to accomplices)

a. The conduct is undesirable, but the actor is not regarded as morally blameworthy.
b. Includes insanity, duress.
3. Extrinsic policy defenses (treated like excuses—does NOT extend to accomplice)
a. Conduct is undesirable, actor is blameworthy, but concerns beyond criminal law outweigh normal goals of criminal law.
b. Entrapment, diplomatic immunity, double jeopardy.

ii. Taylor v. Commonwealth – Child abduction case.  Taylor was convicted of being his accomplice.  But the father couldn’t be found guilty because it was actually his child.  

1. Court calls this an excuse (though most would call it a justification.)

2. Legal excuse is specific to the primary actor and does not extend to the accomplice.  Excuses always personal to the actor—non-delegable and unavailable to the accomplice.

iii. Vaden v. State – Undercover agent (Snell) kills 4 foxes in entrapping Vaden for illegal hunting laws.  Vaden is convicted as accomplice.  

1. Vaden tries to use justification defense because justification for the primary actor DOES extend to the accomplice.

2. Court says he can’t do this because Snell wasn’t justified in killing the foxes—he never should have killed 4 or any at all.

iv. X-Files Examples:
1. Mulder relaxing by a pool, cigarette smoker comes along, points a gun at Mulder and Scully comes along and throws the gun at Molder—he shoots cigarette smoking man. She didn’t really care about Mulder, she just wanted cigarette smoking man to die.  Mulder not guilty—self-defense.  Can Scully be guilty on accomplice theory?  First have to classify the excuse—self-defense is a justification.  There is no crime from which she can derive liability.  No accomplice liability.

2. Now CSM is on a bench smoking minding his own business.  Scully tells Mulder CSM is pointing a gun at him and is about to shoot.  He takes out his gun, she tells him where to point and he shoots. Mulder will prob have self-defense.  Is Scully guilty on an accomplice theory?  No, but she is guilty on a regular murder theory.  She took away his will by duping him. Did her act cause the death? Because his volition was stripped away, it was like she used Mulder as a baseball bat. (He is an innocent agent.)

3. Now M tells S that he’s gonna kill CSM.  But M is insane—he believes CSM is a space invader.  Scully knows M is insane but tells M she’ll stand lookout because she wants CSM to die.  M not guilty because of insanity—an excuse.  S guilty on an accomplice theory?  Yes, because there’s still a crime at the end of the line.  His excuse does not extend to her.  Excuse is personal to the individual.  Her help had an encouraging effect her.  

4. S encourages a Peruvian diplomat to kill the CSM, provides the gun to help him do it.  Is the diplomat guilty?  No, because he has diplomatic immunity.  What is Scully’s liability? Extrinsic policy defenses are treated like excuses.  

e. If primary actor is acquitted on elements-based defense:

i. Accomplice liability is not barred

ii. MPC 2.06(7)—An accomplice may be convicted on proof of the commission of the offense and of his complicity therein, though the person claimed to have committed the offense has not been prosecuted or convicted or has been convicted of a different offense or degree of offense or as an immunity to prosecution or conviction or has been acquitted.

f. Can an accomplice be guilty of a graver offense than the primary actor?

i. For homicide, the accomplice can be guilty of murder if the primary actor is guilty of voluntary manslaughter.

ii. For other crimes, the accomplice CAN’T be found guilty of a graver offense.

VII. Justification

a. Self-Defense
i. General Rule:

1. If you reasonably believe you face:

a. Imminent

b. Unlawful

c. Physical force against you

2. Then you may respond with the:

a. Level of force you reasonably believe necessary

b. To protect yourself.

ii. Special Rules:

1. Deadly force

2. The need to retreat

3. The first aggressor

iii. Deadly force

1. May be used ONLY if you reasonable believe that its use:

a. Is necessary

b. To protect yourself

c. From imminent death or great bodily harm.

2. You may not use deadly force to repel nondeadly force even if it is the only way to repel the nondeadly force.

3. Deadly force = force that is intended to or likely to cause great bodily harm.

4. People v. Goetz – Guy shot 4 youths on the subway when they asked him for money—he had had experience with robbery and violence in the past.  

a. Court said the standard was how a reasonable man in Goetz’s position would have acted under the circumstances.  Prior experiences and physical attributes and knowledge about your attacker are valid information.  

b. Don’t include things like the person’s temperament or other emotional attributes—these have an objective standard.

c. See MPC 3.03 and 3.09.

5. State v. Norman – woman was abused for several years by her husband; she eventually shot him while he was sleeping; she claimed self-defense.

a. The court says there is an inevitable threat but not imminent.

b. Relevance of battered women’s syndrome—it is not its own defense, but it has to do with reasonable belief.  She would have awareness of his violence patterns, when the violence escalates, what happens when she tries to get help, etc.

iv. The need to retreat

1. Universal duty to retreat if you can.  

2. Rule is:  Duty to retreat before using deadly force if you know that you can do so with complete safety except you are not required to retreat from your home (castle rule)—though courts have fought over how broadly home is defined—whether the porch or driveway counts, etc.

3. If you want to stand your ground you can, but you can ONLY use nondeadly force.

4. State v. Abbott – scuffle with hatchet, carving knife and fork over driveway between neighbors.  D did not retreat when they came at him with the hatchet so was liable.

v. First aggressor

1. Rule is:

a. The aggressor in a conflict

b. Has no right to use deadly force in self-defense unless:

i. Communicate intent to withdraw and

ii. Make a good-faith attempt to withdraw.

2. Aggressor = one who engages in an affirmative unlawful act reasonable calculated to produce an affray foreboding injurious or fatal consequences.

3. United States v. Peterson – Keitt and friends tried to steal windshield wipers from Peterson’s car, he came out and told them to leave, then got a gun and continued to threaten Keitt.  Keitt came over with a lug wrench and Peterson shot him.  

a. Keitt started out as the aggressor but didn’t stay aggressor.  He lost his status as aggressor when he started to leave the first time.  

b. Peterson became the aggressor when he came out with his gun.  When Keitt came with wrench, Peterson didn’t communicate an attempt to withdraw or make an effort to—so he has no right to use deadly force until he loses his status as aggressor.
b. Choice of Evils
i. Rule is:  Conduct, otherwise illegal, is justified if:

1. You are without blame in bringing about the situation

2. You reasonably believe the conduct is necessary

3. To avoid an imminent harm

4. That is greater than the harm of the conduct itself.

ii. People v. Unger – Case of the man who escaped from the honor farm because he had been sexually assaulted and threatened.  

1. Court said defense of necessity was appropriate in this case.

2. Duress would not have worked—that would only work in a situation where someone was forcing him to perform the act of escape.

3. State asked for more stringent Lovercamp test in this case—test on page 811.

iii. United States v. Schoon – Civil disobedience case where Ds went into an IRS building to protest US involvement in El Salvador.  

1. Court says necessity defense will NEVER work in indirect civil disobedience cases because there are always other legal alternatives.  

2. If the harm you are protesting is a government law or policy, it can’t be a legally cognizable harm.

iv. MPC Approach to Choice of Evils—3.02

VIII. Excuse

a. Duress 

i. Rule is: Conduct otherwise illegal, is excused if you are:

1. Without blame in bringing about the situation

2. Coercion by a threat from another of

3. Imminent death or serious bodily harm to you or another

4. Which a person of reasonable firmness, in your situation would be unable to resist

5. But the defense is not available for intentional homicide.

ii. “Ordinary firmness” – matters of temperament are excluded

iii. For duress, harm MUST be to a person (unlike necessity, which does allow threat to property.)

iv. State v. Toscano – Guy filled out false medical reports because he feared for his own and his wife’s safety. 

1. Court said the trial court should have permitted a jury instruction on duress.
b. Insanity
i. Defense is raised in a small number of cases and doesn’t make much difference when it is (though sometimes can make a difference in capital cases.)

ii. M’Naughten’s Case – Guy came to London to kill prime minister because he thought the tories were out to get him; he ended up killing the pm’s secretary by mistake.  

1. M’Naughten Test is:  At the time of the act, D must have: 

a. Disease of the mind [producing]

b. Defect of reason [such that]

c. D did not know

i. Nature and quality of the act [or]

ii. That the act was wrong.

2. What is included in “disease of the mind”?

a. Usually left undefined for the jury

b. Common approach is to include all mental abnormalities which could produce the circumstances at hand.

c. Most mental syndromes do not count (battered women’s, ptsd, etc.)

3. What is “wrong”?

a. Some courts interpret as morally wrong, others as legally wrong.

iii. Blake v. United States – D convicted of bank robbery, had had a lot of mental disorders and electrotherapy.  Competing psych testimony—his lawyers said he had schizophrenia and the government said he was suffering from a mental disorder of repeating criminal acts (not caring about committing crimes, but not divorced from reality either.)  
1. Court said his disorder (the state’s version) was a sociopathic personality and doesn’t meet the test because wasn’t a disease of the mind.

iv. Davis Standard 

1.  Adds volition, unlike the M’Naughten rule.  It is basically M’Naughten supplemented with a volition (ability to conform to the law) test.  

2. Must be incapable of distinguishing between right and wrong.  

v. MPC approach

1. Substantial lack of capacity (instead of absolute)

2. Use of “appreciate” (instead of “know)

3. “Disease or defect” (instead of “mental disease)

4. MPC is a softer approach—includes more situations under category of insanity.  

vi. Historically

1. M’Naughten swept country, then many states added volition.

2. When MPC came out, most states adopted it.

3. After assassination attempt on Reagan, many states reversed and went back to the stricter M’Naughten rule.
IX. Final Perspectives

a. The Role of the Criminal Lawyer
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